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Chapter 12, Solution 2.
Since phase ¢ lags phase a by 1207, this is an ach sequence.

V,, =160£(30°%+120%) = 160.£150° V
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Chapter 12, Solution 7.

This is a balanced Y-Y system.

44020° ¥ <+> |::| Zy=6-j8Q2

Using the per-phase circuit shown above,

440.20°
T 6—8
I, =1 2-120°=442-066.87° A
I, =1 _Z120°=44£173.13° A

I

=44 /53.13° A
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Chapter 12, Solution 8.

Consider the per phase equivalent cireuit shown below,
Ly

VGH

o= Ve 100<20° 5396, 351°4
YZ,+Z, 106+ 152

I, =1 <—120" =5.396/-155.1° A

[ =] <+120" =2396£84.9° A

V,, =17, =(4.4141— j3.1033)(10+ j14)=92.83£19.35° A

Vip=V,,<=120" _92.83/-100.65° A

V.=V, <+120" =92.83.£139.35° A




